Untitled Document

Electronic
R A F Hardware
(ul-14d I8 > Home > Electronic Hardware > Metric > Handles & Ferrules > Reference

6mm HEX MALE-FEMALE STANDOFFS

| . 1% THREADS MAX. THREAD

TO MIMOR DIA, |
===/ [N !
Sk e ;
g bty | &J ‘
]
le— '
A —
B L =
THREAD
Order Code: [ M2150-3506-S-12 (complete) <= e (ROTTTETS
Finishes: m———— . e

- I How to create part numbers] [Material Specifications]

|12—Z|nc | —_—

SELECT|PART NO. [LENGTH] [SELECT[PART NO.[LENGTH THREAD LENGTH CODE Select]CODE] MATERIAL JRoHS,
O M2140 5 O M2155 20 Selec]CODE] THREAD | A | B O| AL jaLuminum | YES
@) M2141 6 @) M2156 21 O [2545 [M2.5x0.45 4.8 [3.97 O | B | BrRASS |YES

O 3005 | M3x0.5 |6.4 |4.76 STAINLESS
O M2142 7 O M2157 22 O | ss steeL | YES
O M2143 8 O M2158 23 (2) 3506 [M3.5%0.6 [9.5 [6.35 @ | s | sreer |ves
O M2144 9 O M2159 24 O 4007 | M4x07 f111 053 O ~ | nvon |ves
O M2145 10 O M2160 25
O [ | o O [ | MINIMUM THREAD DEPTH "A Ordering Code
Body Length "L"
THREAD MXXXX  XXXX XX XX
O M2147 12 O M2162 31 516171819 110J11]12}13] 14 ] 15 | I | |
M2 5x0.450 99 - 1-1-1-1-1-1-1- | Thread |  Finish
O M2148 13 O M2163 34 M3x0.5 1.8[2.8]3.8448/5.8 - |-|-J-] - | - Length Material
M3.5x0.6 | - [2.5]3.5/4.5/5.5/6.5|7.58.519.5] - | -
O M2149 14 O M2164 37 M4x0.7 - 231415 106.107.1§8.1jo. 1j10.1J11.1
M2150 15 M2165 40 .
© O For non standard items
O M2151 16 O M2166 43 please click here
O M2152 17 O M2167 46
O M2153 18 O M2168 49
O M2154 19 O M2169 52

© 1999 RAF Electronic Hardware All Rights Reserved

Seymour CT 06483 203 888-2133 Fax: 203 888-9860 www.rafhdwe.com

RAF Metric Electronic Hardware Online Catalog 203 888-2133

http://www.rafhdwe.com/RAF_site/OnlineCatalog/search/showpart_NEW.cfm?ID=501&Part=mmfs&CYCLE=1&Cat=2[10/23/2012 10:30:40 AM]


http://www.rafhdwe.com/RAF_site/OnlineCatalog/mhcoverframe.html
http://www.rafhdwe.com/RAF_site/OnlineCatalog/index.html
http://www.rafhdwe.com/RAF_site/OnlineCatalog/ehcoverframe.html
http://www.rafhdwe.com/RAF_site/OnlineCatalog/ehcoverframe.html
http://www.rafhdwe.com/RAF_site/OnlineCatalog/ehcoverframe.html
http://www.rafhdwe.com/RAF_site/OnlineCatalog/mhcoverframe.html
http://www.rafhdwe.com/RAF_site/OnlineCatalog/hfcoverframe.html
http://www.rafhdwe.com/RAF_site/OnlineCatalog/hfcoverframe.html
http://www.rafhdwe.com/RAF_site/OnlineCatalog/MHReferenceFrame01.cfm
http://www.rafhdwe.com/RAF_site/OnlineCatalog/MHReferenceFrame01.cfm
http://www.webstat.com/free_web_statistics.php
javascript:OpenCloseUpWindow()
http://www.rafhdwe.com/RAF_site/OnlineCatalog/mhStyle01Template.cfm?ID=500&PART=mmfs&CYCLE=1
http://www.rafhdwe.com/RAF_site/OnlineCatalog/mhStyle01Template.cfm?ID=502&PART=mmfs&CYCLE=1
http://www.rafhdwe.com/RAF_site/OnlineCatalog/mhMasterFrame01.cfm?PART=mmfs&CYCLE=1
javascript:GetQuote()
javascript:OpenClosePage('PartNoHelp.cfm')
javascript:OpenClosePage('mMaterialSpecs.cfm')
javascript:OpenClosePage('NonStandard.cfm?ID=1')
javascript:OpenClosePage('NonStandard.cfm?ID=1')

	rafhdwe.com
	Untitled Document


	xFPTE/QWNyb2JhdFdlYkNhcFRJRDIA: 
	bigform: 
	ordercode: M2150-3506 -S-12
	codeadvice:  (complete)
	Finishes: [12]
	field-0: on
	field-1: on
	field-2: on




